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>> £=0:1/100:6-1/100; 4 000 17100 OO 6 0O
4 17100 OO00DO0OOOODOO
>> y=sin (2*pi*15*t)+sin(2*pix*40*t); / 15Hz 0 40Hz O0OOO0ODO

>> f=fft (y); # y 00000 (600) fft O y OOOO
>> f£(10) 4 f(10) OOODOO
ans =
7.7991e-013 +1.5264e-0131 s 00000o0oao
>> s=abs(f); 4 000000O0O0O

>> plot(s)
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>> z=b+3i

zZ =

5.0000 + 3.00001
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>> find(s>0.01)
ans =

91 241 361 511
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>> a=[1 2 3 4 5];

>> a==
ans =
1 0 0 0 0
>> a>3
ans =
0 0 0 1 1
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>> find (a==1)

ans =

>> find (a>3)

ans =

4 5
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>> plot (abs (fft(y,599)))
>> plot(abs(fft(y,598)))
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>> w=hann (600) ;
>> plot(w)
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>> c=[1 5 4];
>> d=[2 3 1];
>> c.x*xd

ans =
2 15 4
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